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1. Consider the following statements about
™ 1g29 Lahore Congress Session.
1. It was presided over by Jawaharial
Nehru.
o |tdeclared ‘Purna Swaraj' or complete
independence.
3. Decided to celebrate Jan. 26" 1930
as Independence day.
4. Gandhiji gave call for Do or Die.
\dentify the correct statements.
(A) 1and2only
(B) 3and 4 only
(C) 1,2and 3 only
(D) 1,2and 4 only

2. Adgalvanometerhasa resistance of 30 Qand
a current of 2 mA gives full scale deflection.
How will you convert this galvanometer into
a voltmeter of 0.2 V range 7
(A) 700 (2 resistance should be connected
parallel to the galvanometer

(B) 70 Q resistance should be connected
parallel to the galvanometar

(C) 700 resistance should be connected
in series to the galvanometer

(D) 70 © resistance should be connected
in series to the galvanometer

3. 7-2°n = N is divisible by
(A 7
(B) 2
(C) 5
(D) None of these

4, The baking quality of wheat is attributed 1o
(A) Glutenin (B) Gluten
(C) Glutenicacid (D) None of these

5. A magistrate has the power to direct the

police to investigate into

(A) anon-cognizable offence

(B) a cognizable offence

(C) only a non-cognizable offence as ina
cognizable offence the police is under
a duty to investigate

(D) both (A) and (B)
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which one of the following is notan Internet
service Provider (ISP} in India 7

(A) VSNL

(8) BSNL

(C) ERNET India

D) Infotech India Lid,

The task which is not performed by Election
Commission of India is

(A) Issuing notifications far elections

(B) Preparing electrol rall

(C) MNominating candidates

(D) Implementing model code of conduct
Which of the following statement is correct ?

(A) Modem converts the analog signal into
digital signal and vice-versa

{(B) Modem is a software

(C) Medem helps in stabilizing the
vollage

(D) Modem is the operaling system

Right to Information Act (RT1) was enacted
in the year of

(A) 2003 (8) 2004

(C) 2005 (D) 20086
Galena is

(A) CuFeS, {B) PBS

IC) Zns (D) CaSO,

Who among the following have been awarded

by Param Veera Chakra for his service during
Indo-Pakistani war of 1971 7

(A) Hoshiyar Singh Dahiya
(B) Karam Singh
(C) Vikram Batra
() Yogendra Singh Yadayv

Bansilal, one of the longest serving Chief
Mi"iﬁlﬂfs of Haryana was a union
'{T’"ﬂ‘lﬂr during 1975-77.

)

®) Finance
©) Detence
(D) Law

10.

11.

12.

3/2018 (1) (E)

T Ml

frafafaata s-mumad e s
W2 (ISP) 7E 8

(A) HETETE

(B) =uwuE

(C) ERNET si&an

(D) swies stz fafuee

¢ F F WA F qEE w6 S
e

(A) TamEt F1 sfE o w1

(B) éma"l AT AR WA=

(C) wwafeml &1 Jmema

(D) YA ST wiEA FF] S

fraforfas 0 8 af-m s wg B

(A) UEn oiaf oae ) Rfers o 0
Tz B oy e vy w vl
mEa O T R

(B) w2 v wiwzmT B

(C) Meaa==# %1 for w23 & wem s B

(D) WrEw v sfwrien gemen &

qu shewr w afufmad # s
LSl

{A) 2003 (B} 2004

(C) 2005 (D) 2006

et

(A) CuFeS, (B) PbS

(C) Zns (D) CaSoO,

1971 ¥ Ares e 5z & B &
Emﬁfgqmamm%w;ﬁ*m_m
(A) Frfivam fae afien

(B) *wm faw

(C) fomrm am

(D) Wiz fire 2

B T A e 19757, t“?ﬁq“i;';
—miyg "
(A)

(B)

(C) =

(D) fafy




www.makemyexam.in

3/2018 (1) (E)
13. Malt extracts of which crop are used as
supplements in energy rich drinks like
boost, bournvita, horlicks.., ?

(A) Wheal (B) Qats
(C) Barley (D) Triticale
14. Rock Garden of Chandigarh was founded by
(A) Nek Chand Saini
(B) Albert Mayer
(C) Maciej Nowicki
(D) None of the above
was the longest serving Governor of
Haryana.
(A) Dharma Vira
(B) Birendra Narayan Chakraborty
(C) Ranijit Singh Narula
(D) Jaisukh Lal Hathi
The first Non-Aligned Summit was held at
(A) Belgrade (B) New York
{C) Delhi (D) Bangalore

17.  Which of the following electromagnetic
spectrum is the chief cause of skin burning,
tanning, cancer, etc ?

(A) UV=A rays
(B) UV-B rays
(C)y UV-C rays
(D) None of the above
18. Following is not a layer of uterus
(A) Endometrium  (B) Myometrium
(C) Perimetrium (D) Ectometrium

19. The number of bacteria in a certain culture
doubles every hour. If there were 30

bacteria present in the culture m%

15.

16.

how many will be present at the
hour 7 '
(A) 120 (B) 240
(C) 480 (D) None of these
20, Valweof (V2+1)'+(J2-
() 1982 )
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Investigation of an offe

nce is con
(A) ducted by

Judicial magistrate
(B) Executive magistrate
(C) Police officer

() Both () and ()

Idenmﬁ’;{hﬁ IP address from the following.
(A) 300-215-317-3

(B) 802-215@417-5

(€) 202.50.20.148

(D) 202-50-20-148

Which of the following personality is said to
be the father of folk theatre in Haryana 7
(A) Ali Baksh

(B) Lakhmi Chand

(C) Daya Chand

(D) Mukesh Yadav

What is the cause of Greenhouse effect 7
(A) IR rays (B) Microwaves
(C) X-rays (D) Radiowaves
. Find out the missing number in the
sequence -1, 0, 1, 8,27, 7.

(A) 24 (B) 44

(C) 60 (D) 64

If |x — 2] = 5 then x lies in the interval

(A) [-7.3] (B) [-3.7]

(C) [B.7] (O) [-7,-3]
Among the total foodgrain production, which of
the following crops ranks first in Haryana 7
(A) Rice (B) Wheat

(C) Maize (D) Pulses

After successfully setting up two fully
developed food parks in Haryana, State
Industrial and Infrastructure Development

~ Corporation (HSIIDC) is developing another

=

of

mega food park at

(A) Rai

(B) Saha

(C) Barhi
(D) None of the above
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is the state animal of Haryana.
(A} Elephant

(B) Blackbuck

(C) Indian bison / Gaur

(D) Asiatic lion

A symptom of acute chest pain appears
when no enough oxygen is reaching the
heart muscle is

(A) Angina pectoris

(B) Atherosclerosis

(C) Heart failure

(D) Hypertension

Two dice are thrown together. Let A be the
avent of ‘getting 6 on the first die’ and B be

the event of ‘getting 2 on the second die’.
The value of P{A ~ B} is

® Ma (B) }és

© % (D) None of these

The number of ways of choosing 4 cards
from a pack of 52 playing cards such tha!
four cards belong to the same sult is

{A) 2860 (B) 2086

(C) 2680 (D) none ol these
Assembly House of Haryana is at

(A} Rahiak (B) Panipat

(C) Ambala (D) Chandigarh

Which set of letters when sequentially
placed at the gaps in the letter series
it"?ﬂpm _NPMO_PMON_ will complete

(A) PNOM (B) NMPO
(C) ONPm (D) MONP
In 2 group of 88 people, 40 fike cricket, 10 fike

both cricketandennis, The number of people
who like tennis only ang not cricket is

(A) 35 B 25
(C) 40

o 3
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(A) Chope

BY Meslak
(C) Tilpatra {B) "~ Neaid

(D) Mudha
Which among the followin

statement aboul
SAARC is wrong ? - J

(A) SAARC members signed to a treaty
ca!lgd SAFTA
Its first Summit was held at Bangalore

lts Headquarter is located in Katmandu
of Nepal

(D) SAARC was established in 1985
‘Pidi’ refers to

(A) Terracotta (B) Wood Carving
(C) Footstool Craft (D) Metal Carving
If 'HEATER' is written as 'KBDQHO'. How

(B)
(C)

'COOLER' can be coded ?
(A) FLRIHO (B) ALRIHV
(C) FRLIHO (D) FLIRHO

The movement of colloidal particles under
an applied electric potential is called

(A) Brownian Movement

(B) Tyndal Effect

(C) Diffusion

(D) Electrophoresis

Which of the following is a supersonic
missile 7

(A) Trishul (B) Akash

(C) Prithvi (D) BrahMos

Haryana Police and the Department of
Women and Child Development have
launched a campaign to trace and
rescue the missing children of state.
(A) Operation Children
(B) Operation Beti Bachao
(C) Operation Muskan
(D) None of the above
Select the physiological barrier of innate
immunity from the following.
(A) Skin on our body
(B) Acidin stomach
(C) Monocytes
(D) Interferons.
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44, An explicit process of converting a data from

45.

46.

47.

49.

51.

one type to another is called
(A) type casting

(B) automatic type conversion
(C) data overioading

(D) exception handling

Which of the following is not a High Level
Programming Language ?

(A) COBOL

(B) Pascal

(C) Assembly language

(D) FORTRAN

International Yoga Day is celebrated on
(A) 20 July (B) 21% July

(C) 22 July (D) 21 June

It ‘A" means 'x’, ‘B" means ‘', 'C' means '+’
and 'D'means -, then21 C3DGABB2 =
(A) 72 (B) 0

{C) 48 (D) none of these

The mean deviation about the mean for the
data G, 7, 10, 12,13, 4. B, 12 is

(A) 3 (B) 9
(C) 2.75 (D) 325

Horse is'a

(A) Ruminant hooled

(B) Neon-ruminant hoofed

{C) Ewven toed roofed

(D) Odd number toed hoofed
_____is the present Advocate General of
Haryana.

(A) Baldev Raj Mahajan

(B) Nawal Kishore Agarwal

(C) Ashok Agarwal

(D) Surya Kant

Which of the following is correct 7

(A) Sn0=-5  (B) Cos0=1
(C) Sec6=% (D) Cosad=0

Haryana has appointed ____ the state's
brand ambassador 10 promote Yoga and
Ayurveda. Y

fA; Baba Ramdev

(B) Sri Sri Ravishankar

(C) Sadguru ; _

(D) Acharya Balakrishna
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56.
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59.

The low salini

of Bangal ﬂﬂﬁg :

\A) High evaporation

(B) Hydration
Precipitation

(©) Influx of river water

ﬂgﬂﬁﬂtlv. this country has requested
b Yana Government to celebrate Geeta

yanti Mahptsau in their country

Palqysma (B) Bali
akistan (D) Mauritius

Select the pair in which the numbers are
similarly related to the pair 7 : 24,
(A) 30:100 (B). 23:72

(C) 19:58 (D) 11:43
Three married couple are to be seated in
& row having 6 seats in a cinema hall. If
Spouses are to be seated next to each other,
in how many ways can they be seated 7
(A) 6 (B) 18

(C) 48 (D) None of these

waleris observed in Bay

If the sum of first 3terms ot a G.P. is :_g

and their product is -1, then the common

ratio is
(A) -3 or —% (8) -1,/
(C) %or% @) Yaorz

Stomach of ruminants is divided into
(A) Four parts (B) Two parts
(C) Three parts (D) Five parts
A charge is framed by

A) The court (B) The police
{G% The prosecution (D) All the above

Which one of the following s not a search

ine ? e
{EEE Google _Ei Chrome
{ci Yahoo (D) _@;g;;{_ |

ryana who served i
|
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Lal Masjid of Rewan was constructed during

the rule of

(a) Babar

(B) Mohd. Bin Tughlak
(C) Mohd. Ghori

(D) Akbar

 gelect the word which is least like other

words in the group.

(A) Cow (B) Deer

(C) Donkey (D) Goat

First battle of Panipat was fought in
between

(A) Akbarand Rana Pratap

(B) Ibrahim Lodhi and Akbar

(C) Ibrahim Lodhi and Babar

(D) Akbar and Shershah Suri

_____ s the first and youngest woman in
the world to climb ML, Everest twice,

(A) Bachendri Pal

(B) Santosh Yadav

(C) Premlata Agarwal

(D) Arati Saha

was instrumental in collecling a

version of the Guga legend and published
in Indian Antiquary (1895).

(A) Major J. Abbott
(B) William Crooke
(C) Charles Swynnerton

(D) Richard Carnac

The Amendment of the Indian Constitution

which reduced voting age from 21 to 18
yearsis
(A) 8 B) 62
© @ o

(D) 44
Fm?ifhlli Minister of Arunachal

(A) Nabam Tuki

(B) Pema Khandy

(C) Dorjee Khandy
(D) None of the abave

62.

B5.

-10-

& e e

e i aa ufee
o g |
(A)
(B) wrem fam guer®
(C) whEe wrf
(D) ¥
I w2 g | e ° 3 el | AaE
mfﬂm???

(B) whm

(A) T
(C) ™ (D) W&

q;ﬁqﬂmgnﬂ'ﬂ':___*mﬂ'ﬂml
(A) spFart sfir Tom gAY

(B) wanfem =t aft sy

(C) wanfem =it i amm

(D) @A 3 Frone

7 um uriz qang W g ane fom
) wam 3w wn wg A wfeen d |
(A) =wdt a=

(B) @A™y wEA

(C) WM wETE

(D) i3 wme
____ATm % ¥ % g W o
#4 3ih e o A (189s) wwifTm e
# g fmn |

(A) WA R, Twz

(8) faferm g

(C) wred fada

(o) fred widw

wreefr s i aw s fama we g
w1 21 & 18 a w fam

(A) 61 (B) &2

(C) 42 (D) 44

HEUTEE W & ader e B

(A) AW i

(8) T Ay

(c) sHiamg

(D) 3w A Aw{



www.makemyexam.in

T0.

71

74.

T:a?ﬂzm Sanskrit Gauray Samman for the

016 has been awarded to which of
the following Sanskrit writer 7

(A) Prof, Shrikrishna Sharma

(B) Acharya Mahavir Prasad Sharma
(C) Prof. Rajeshwar Prasad Mishr
(D) Pandit Sitaram Shastri Acharya

Class which contains only pure virtual
function is called

(A) base class (B) derived class
(C) abstractclass (D) inherited class

IFP(A) = 9 and P(A ~ B) = %44 then

P(54)-

(A) % (8) %

© % ©) T
mq?lMiMngiSMEkmﬂdm
OB ES

The code name used 1o launch aninvasion |,

on lrag by USA in 2003 was

(A) Operation All Clear

(B) Operation Iraqi Freedom

(C) Liberation of Irag

(D) Operation enduring freedom of Iraq
Ekuverin, a bilateral military exercise
recently held in Belagavi, was betwaan

India and
(A) Sri Lanka (B) Maldives

(C) Nepal

69,
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. Predict the output “sum” in the following

.

program.
sum=0
foriinrange (1,11,2):
SUM+ =
print “sum=", sum
&) 1
(C) 24

(B) 22
(D) 25

Total number of gold medals bagged by
India in the recently held Commonwealth
Games is

(A) 25

(B) 26

(C) 27

(D) 23

Karthik cultural fest in Gurgaon aims at
promoting

(A) Agricultural harvesting

(B) Martial arts and folk arts

(C) Happiness of husband

(D) Mone of the above

The leading Producer ol Manganese in
India

(A) West Bengal,

(B) Jharkand

(C) Odissa

(D) Nene of the above

In python, operators with same precedance
are evaluated

(A) Right to left

7.

78.

|-l_-'i

ﬁﬂwwif-‘“w"m
e, |

=0
f:meﬂ-"-?‘f
m:l
ww.m
(A) 1
(C) 24

et i o e we A S T 9T
mﬂqﬂgwﬂﬁMl

(A) 25

By 26

© 27

(D) 23

SeueEaRaies Eis te s L L
wafa ® )

(A) P wert

(8) mrvt= sd s e

(C) ufa# wa=n

(D) T | A wr A

e i e sl s b '
(A) o e

(B) Wy

(C) »ifEem

(D) 3% § & wr§ )

®) 22
©) 25
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84.

85.

A convex lens of focal length 20 cm is

E‘?ﬂ?ﬂd co-axially with a convex mirror of

13 Ius of curvature 20 cm. The two are kept

15 ¢m apart from each other. A point object

llﬁhﬂ’ﬂﬂad 60 cm in front of the convex lens.

© posilion of the image formed by the

combination is

(A) 80cm (B) 40 cm

(C) 30cm (D) 10cm

The mean deviation of the data 3, 10, 10,
4,7, 10, 5 from the mean is

(A) 2

(B) 257

(C) 3

(D) 3.75

Which of the following is not an award
presented by Haryana Sanskrit Academy ?
(A) Maharishi Valmiki Samman

(B) Mahakavi Baanbhatt Samman

(C) Maharishi Vedvyas Samman

(D) Mahakavi Kalidasa Samman
A and B are married couples. X and Y are
brothers. ¥ is the brother of A, How Y is
related 1o B 7
(A) Brother (B) Brother-in-law
(C) Son (D) Son-in-law
There are four bus routes between A and B,
three bus routes between B and C. A man
can travel round trip in the number of ways
by bus from A to C via B. If he does not want
to use a bus route more than once, in how
many ways can he make round trip ?

(A) 72 (B) 144

(C) 14 {D) 19

which of the following districts of Haryana
is richest in mineral resources 7

(A) Fatehgarh

(B) Mahendragarh

(G) Hisar

(D) Ambala

-13-
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W 20 Hdf) S ST I AW 20 ¢
e Firser ¥ v I S WY w0 A8 T
e T & | 39 A0 W 15 A T A
w itz a5 399 o0 & aaa 60 w0 T
E B | 3w = ufafe f e
(A) 607 (B) 40 ¥4

(C) 30 &H (D) 10 ®%

mer @ sitrs 4, 10, 1004, 7. 10, 51 5T
e
(A) 2
(B) 257
(C) 3
(D) 375

fafafada sl
sppradl Z T a7
(Ay Wit iR e

7] ATEE Y Fhgmn Jay

8) UPTETa AT T Wi
(C) it azsumm W
(D) werfa e W

aAsmpfarimgm I X slr vy unt B
X, AW vk R 1 Y, B8 e v wafia B

(A m: (B) 'T-T'.'!
(C) T (D) =R

Ash g frawmawari §, B s C & oy
Rt jmmfARc Bl v M
it & 3 wwm Rk ae v ww s
W1 U R R AW T A e anean o oay
fi w01 & an W B 2

(A) T2

(B) 144
(C) 14 Dy 19
hamm = Frefeform 8 3w
e it
(A) waETg
(B) wExTE
€ feum
(D) &
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English Language
Fill in the blanks with appropriate from the given options :
89. Benny had finished cooking when the

visitors

{A) entering (B) were entering

(C) entered (D) had entered
90. He two wickets belore play was

interrupted by the rain,

(A) had taken (B) took

(C) has taken (D) taken

Complete the sentences selecting correct option

91. As soon as the speech slarted

(A) than the demonstrators rushed to the
platform
lhe demonstrators rushed to the
platform
then the demonstrators rushed to the
platform
when the demonstratars rushed to the
platform

We are so late
(A) to catch the train
(B) that we could catch the train

(B)
(C)

(D)

95,

a7.

=t v

3 el @1 qwn w2 30 weA f
(A) e
(B) Fd
(C) Foe
(D) wET

TR T WA §H AT W ey s B
(A) 7T B T W W

(B) Tm TN R

(C) T & wrn vt awh R

(D) TR T E

30 %1 fe= d e B

(A) TEE

(B) 3=t

(C) A=

(D) ITaTm

" 3 fareeh w1 w o R fih
- ww b 7

(C) we couldn’t catch the train (A) Faf wrw
(D) that we cannot calch the train (B) wd wrew
Select the correct indirect speech for the following : (C) m WITE
93. The master says ‘Have you seen the map 7° (D) 99 HHw
(A) The master said had he seen the map Fra
(B) The master asked had he seen the map 9. ¥ ¢
(C) Themasterinquires if he has seen the map (L
(D) The master inquires if he saw the map (B) wiifin
94. He said “Be quiet and listen to my words”. (C) feran
{A) He said to them be quiet and listen to (D) M=
his words
(B) He told them to quiet and listen o his | 100. T’ ¥rez % wifém =y #
words (A) it
(C) He urged them to be quiet and listen
(8) ¥
to his words
(D) He urged them if they sit quiet and (C) I
listen to his words (D) I
Ve T
M : -14-
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